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1. PO OIS TR SORTRIGH YHTEA TOHTTE feell geaHE e ik g et ang?

1) 9 (2) ITUET (3) AT (@) WTT
Which space agency has released the first visible light images of the surface of venus from space ?
(1) ESA (2) JAXA (3) NASA (4) CNA

2. 'O SeXAYHd BRAETFET TR BRI SN dueqel Gete et

(1) <20 (2) omfya (3) fogwm 4) uh
‘Sustainable international financing scheme’ is associated with which global association ?
(1) G20 (2) ASEAN (3) BRICS (4) SAARC

3. UTED GR&TU BRI 2019 T G Giees] SR e g e ?
(a) ¥ DT 20 FI 2020 URET A Hedl.
(b) T-HHE WehHA SFad ANR YREy i aEEe a1 SEd $Evard el IR,
(c) e faar Fear Erme FrETER 10 9 Seadas TPRIEET $ooiel geb HNRe

JAMOMR AT,
i S :
(1) feam™ (a) 9 (¢) (2) fag™ (a)
(3) fum ()9 (9) (4) faum (o

Which of the following statement is incorrect in respect of the Consumer Protection Act 2019 ?
(@) This act came into force on 20th July 2020.
(b)  Unfair trade prohibition rules on e-commerce platforms are included in this act.

(c)  As per the rules of the consumer Disputes Redressal Commission no charges will be levied
for complaints upto ¥ 10 lakhs.

Answer Options :
(1) Statements (a) and (c) (2) Statement (a)
(3) Statements (b) and (c) (4) Statement (c)

4. TP YEMG Felenl TT AR 3 T - 85 & PIURAl S9rE] TEEK SUUT A7

(1) IR (2) wengA (3) B (4) YUHET.
NROL-85, which was launched recently, is an intelligence satellite of which country ?
(1) Russia (2) Israel (3) France (4) USA

=T FETETS AN / SPACE FOR ROUGH WORK PT.O.
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5. e YR WYUR YRR gfter R & — 0 W AR fpe;  aifiger’ v dwin el der
Ty

(1) TE e (2) TR (3) |7 Bl (4) ST HEl

Indias First RT-PCR kit to detect the Omicron Variant, named ‘Omisure’ is developed by which
company ?

(1) Tata MD (2) Piramal (3) Sun Pharma (4) Apex Pharma

6. R JUAEET a ST
(a) 2013 9&) @ YIw AR’ 91 feATCHE B Pl
(b) T RER@AA TG Fradqere seen wRAT .
(c) T ™ HERTE YU 2021 ¥ T/ HIOGN 3ATe.

g ey -
(1) orar Hires (2) e W
(3) W Foel (4) @A SMUC

Identify the person from the following discription :

(@) In 2013 she acted in the film ‘mai’ for the first time.

(b) The first Indian singer to be nominated for a Grammy Award.

(¢) She was recently awarded the Maharashtra Bhushan Award 2021.
Answer Options :

(1} Lata Mangeshkar (2) Asha Bhosale

(3) Krishna Kalle (4) Shanta Apte

7. B GEN IE Pewd ditde ¥ fawed (PPS) e dor eme?
(1) ~emer Y BeReE e R
2) YRGT ReE 5
(3) fa smam
(4) o HAEE
Which institution has developed the ‘Positive Pay System (PPS)’ for Cheque Payment ?
(1) National Payments Corporation of India
) Reserve Bank of India
(3) Niti Aayog
) Ministry of Finance

T THHETETE AR / SPACE FOR ROUGH WORK
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8. WNGrAl "edimiel WHAH U1 fafe WA weliale! Bl Qe HEaq GEbd SR e ?
(1) 9= (2) sféor IR
(3) wgEd aRE SR (4) g

Which one of the following country has provided instrumental support to India’s ambitious space
mission ‘Gaganyan’ ?

(1) Japan (2) South Koria
(3) United Arab Emirates (UAE) {4) France

9. TR fRTw sEarer WiieROr (NFRA) ¥ S7e8s] w0 BHIom] figae) oA 3mell mg?

(1) /8 3N 78 (2) e Freed

(3) AW WISl (4) fFE Muctewr

Who has been appointed as the chairman of the National Financial Reporting Authority (NFRA) ?
(1) Ajay Bhushan Pandey (2) Nandan Nilekani

(3) Azim Premyji {4) Kris Gopalakrishnan

10. Hdre <qEEdE e 2021 99 R AR &, a9l ariied sivin Sag T
TRA TE?

(1) AT, wWie bl aee dred afdh
(2) WEE yaomEe deer g

(3) YR FTS droy FideH

(4) ANDT THES TR

The Supreme Court has appointed Justice R.V. Ravindran Committee in October 2021 for which
of the following purpose ?

(1) IPL spot fixing scam enquiry

(2) Pegasus snooping row enquiry
(3) Aadhar Card Policy confirmation
(4) None of the above

F= FTHTATE AN / SPACE FOR ROUGH WORK PT.O.
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11. PO FEI HAEEW My CGHS' Riargel afeidbe g Fai?
(1) freor H=mer 2) IRWY HAEAY
(3) Tded Wy (4) wiepfm Hamey
Which Union Ministry launched ‘My CGHS’ Mobile application ?
(1) Ministry of Education (2) Ministry of Health
(3) Ministry of Tourisin (4) Ministry of Culture
12, BIURE SOM 2022 A HiFEGCY dae @iy Bar?
(1) Rmnm (2) emfv®I (3) Fweis (4) STecfern
Which country launched the “"COMPETES ACT of 2022 ?
(1)  Russia (2) USA (3) UK (4) Australia
13. 16 @ wfae gar Rkaml Wt sifree 2021 96 wielieiid) SR 29 IR ged od?
(1) = wia (2) drete (3) ¥Ra (4)  sefem
16™ World Youth Archery Championship was held in August 2021 in which of the following
nation ?
(1) South Koria (2) Poland (3) India (4) Australia
14. "PORNTHCHE] HORIET T qRESR-2021" HIVIAT T FHROG AT 7
(1) = @™y $ER (2) Sl SId@. JeER
(3) . I W (4) . Ige wE
Who has been awarded the ‘International Gandhi Award for Leprosy-2021" ?
(1) Dr. Bhushan Kumar (2) Dr. G.P. Talwar
(3) Dr. M.D. Gupte (4) Dr. Atul Shah
15. UYET WU 2019 TER HERTG, JSATE S¥HE) URIgArel SI9dd fhad wHie drer?

(1) ufeen (2) ferRT (3) s (4) Tad

According to livestock census 2019, what is the rank of Maharashtra in terms of livestock among
the country ?

(1)  First (2) Third {3) Seventh (4) Nineth

Fo] FTHIETS AN / SPACE FOR ROUGH WORK
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16. o9 ST HIOMddEd Geloiud] BT HU aRET a7

(@)
(b)
(©)

RTSCUATE Hol STHUYd [ogulel 39l Jaray Ted.
YA e A YRl I ©9 .

Tl frgah wdameRoer g auies! S

(d) T w98 Reeryda ogUe el YEER IEI.
T S ¢
(1) oo R/EM (a), (b) T (c) THAX IR

(2)
3)

(4)

wad g™ (a), (b) T (d) TRER 7=
Had Y™ (b), (c) 9 (d) SVER 3med

Fe fGum SRR s

Which of the following are the correct statements regarding the tenure of a Governor of the
State ?

(a)
(b)
()
(d)

Governor remains in his office as long as President of India wishes.
Governor may resign voluntarily.
The appointment of Governor is generally for 05 years.

Governor remains in his office until another person takes charge.

Answer options :

(1)
)
3
(4)

Only statements (a), (b} and (c) are correct
Only statements (a}, (b} and (d)} are correct
Only statements (b), (c) and (d) are correct

All statements are correct

FoAl FHTATS AN / SPACE FOR ROUGH WORK PT.O.
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17. <059 ArHAE ENEET B0/ U IR 187

(a) ARAR STHST deM 315 O 323 A WG,

(b) T AN TCHIMHT TG SRS SR H.

() T AR FEs FeTedn TRIED SEHI=a Ul HIUT O R,

(d) SN e § HIATAT THU[R] ICARIAID ST Hedl G,

'Cl'ﬂﬁ?l TN
(1) e (a) 3T (b) (2) e (a) 30T (c)
(3) e (b) 3T (c) (4) ™ (b) 3T (d)

Which of the following statement/statements regarding State Public Service Commission is/are
not correct ?

(a) Provisions in Articles 315 to 323 of the Indian Constitution.
{(b) These Commission are working for the State Government as well as the Central Government.

() The appointment of the administrative officers selected by this Commission is done by the
Central Government.

(d) The chairman and the members of the Commission are appointed by the State Government.

Answer Options :

(1) Only (a) and (b) {2) Only (a) and {(c)
(3) Only (b) and (c) (4) Only (b) and (d)
18. YR O@e N1 Wow faue Hesiw Masum R AT Podr STaT.
(1)  RToEHRn (2) <osu fague T
(3) ITSEWe (4) ARG fraEs S
Elections in India for Parliament and State Legislatures are conducted by
(1) President (2) State Election Commission
(3) Governor (4)  Election Commission of India

19. “RA W Sl BoE TEHA 9 Badl T el e
(1) e - 163 (2) ®e - 166 (3) @™ - 167 (4) Ho - 164
Which Article of the Indian Constitution defines the duties of the Chief Minister ?
(1)  Article - 163 (2) Article - 166 (3) Article - 167 (4) Article - 164

ool FHTET AN / SPACE FOR ROUGH WORK
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20. ERERS! SR G TaRG s w7
(1) srh® W& | (2) TOHAER AR
(3) om At (4) vagm. fHudr wfch
Which of the following Committee is not related to the Panchayati Raj ?
(1)  Ashok Mehta Committee (2) Rajmannar Committee
(3) Thungan Committee (4) LM. Singhvi Committee
21. TEEE TOdl P dagid] WHE Al

(@) MERTe w4 te MRS g ame @R e,
(b) 18 9% ol FRUIR UAP HAGR FAENA GHEE T
(c) gHg¥e fEste 3w,

(d) UHYERRE ¥4 AR IHEYY WHEE SR,

T I
(1) wad (a), (b) 3T (c) (2) ®aT (b), {c) M (d)
(3) wad (a), (b) MMM (d) (4) A G4

Make a group of correct sentences in the composition of the Gram Sabha :

(a) Gram Sabha is formed from all the adult citizens of the village.

(b)  Every voter who completes 18 years of age becomes a member of Gram Sabha.

{c) Gram Sabha has election.

(d)  All the voters of the Gram Panchayat are members of the Gram Sabha.
Answer Options :

(1) Only (a), (b) and (¢) (2) Only (b), (¢) and (d)

(3) Only (a), (b) and (d) (4)  All the above

HTAT HHEEI AR / SPACE FOR ROUGH WORK
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10 A
73 = wfaer gEnsE afifEm, 1993 saN UM dardFT Svard ofeledt WA STaTEaT.
(2) EAGHIR Tt WA HRO
(b) T, @Y ¥ FER IR Fdra BT
(c) AP T FaHIe RawmE gl Sueey woq 30
(d) TEA ST AARGHET e B0
RIAYD] PIOMT/PIUR TFI qRER A ?
(1) wH (b) (2) W (d)
() W (a) N () (4) W (b) 9N (C)
New responsibilities given to Gram Panchayats as per 73™ Constitution Amendment Act, 1993,
(a) Enforcement of Land Reforms Act
(b) To develop forest industries, small and cottage industries
(c) Facilitate technical and vocational education
(d) To arrange entertainment for the people of the village.
Which of the above statement/statements is/are incorrect ?
(1) Only (b) (2)  Only (d)
(3)  Only (a) and (d) (4) Only (b) and (c)

23.

24,

TS IISYTeT HAaaal AT T PV BAAK TS Fel e ?

(1) ®e™ 194 (2) oM 177 (3) ®oAd 197 (4) o 165
Which article states that each state shall have an Advocate General ?
(1)  Article 194 (2) Article 177 (3) Article 197 (4) Article 165

ARET IroyEel YT AHIE GRNayd) P HEw Bl 7
(1) dcHHE qTa (2) AR &
(3) aroeTd] PG TR (4) 2. IR W

Who among the following was the members of the drafting committee of the Indian
Constitution ?

(1) Vallabhbhai Patel (2) Jawaharlal Nehru
(3) Alladi Krishnaswamy Iyer (4) Dr. Rajendra Prasad

F=eqt HTHIETE A0 / SPACE FOR ROUGH WORK
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25. ARG VSTHCAAA @Riet®! wvR IRrew ey IwweAq@ g Ta Y
(1) RPRE A9 @Y
(2) WERY APFEs wWwHu
(3) FHER I
(4) W
Which among the following features of Indian Constitution is not borrowed from British
Constitution ?
(1) Parliamentary form of Government
(2) Cabinet form of Government
(3) Rule of Law
(4) Concurrent List

26. WRATE S@UERY &ET By WRie® SRy fHam aee ame 7
(a) WHESFE FiUem AW A SRRl B FHfer Bt e
(b) TS PAICIH § W IR DA AT Gigwmrg A aram e,
(c) YoIegl goaridl HI@a TS Word AR qievdra 3.
(d) TR IR ERPIRA G qEAET IFT IR Ao’ A& Hol.
g oy
(1) (a), (b) 37 () feem =R enea.
(2) (a) 07 (d) foem SRR AR,
(3) (a), (b) 3V () faem SRNET ame.
(4) (b), (c) 3T (d) e SR M.

Which of the following statements are true regarding the development of transport infrastructure
in India ?

(a) The Public Work Department was created during the time of Lord Dalhousie.
(b)  During the reigns of Lord Cormwallis and John Shore road construction gained momentium.
(c) Broad gauge tracks were built during the early days of the railway.

(d) Nagpur Council presented ‘“Twenty Years Road Development Programme’ to the Government.
Answer options :

(1) (a), (b) and (d) statements are correct
2

(2)
(3) (a), (b) and (c) statements are correct
(4) (b), (c) and (d) statements are correct

(a) and (d) statements are correct

HeH1 HATAM AN / SPACE FOR ROUGH WORK PT.O.
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27,

12
A SIS g,

(A)
(a) 1890, 4us fiRd HFAIR Fwe
(b) 1918, IFHSEIE TIACIZA oEX ST
(c) 1918, HE™ TR giA
(d) 1920, 3T fea T gwA A
i S
@@ ({ (9 (d

1 @) @ @ )
(2) () () @ @
(3)  Gv) (W) (i) (D)
4 @ @) @) (@

Match the pair.
(A)

(@) 1890, Mumbai Mill Workers Union

(b) 1918, Ahmadabad Textile Labour Association (ii)

{c) 1918, Madras Labour Union
(d) 1920, All India Trade Union Congress

Answer options :

(@ (b) () (d)

1 G @ @O )
2 Gv) @) @ @
@) (v (@) (@) @
¢4 Gy @ @) 0

F=1 FTHTETE AAN / SPACE FOR ROUGH WORK

(B)
() AT AR
(i) A, arEn

(i) FEHT TTE

(iv) AR HEol AES

(B)
(i) Lala Lajpatrai
B.P. Wadiya
(ili) Mahatma Gandhi

(iv) Narayan Meghaji Lokhande
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28. HAY SGYFNY UG 9 AT AL HEEAT el T,
(a) W Bfrg afeE, 9 (1885) (i) oISt ga
(

(b) TR I AT, FHerH (1886) i) 9ggam awen
(c) foay a9 fReE, 9819 (1887) (i) drAeEE A
(d) T wE AftEEE, semEETS (1888) (iv) SrETHrE AR
T I

(@) (b) () (d)

(

(1) @y @Gv) @ @)
(2) @ (@) @ @
@ @) @ @ &)
4 (v) @ @ (i)

Match the pair place of the Congress Session and his Presidents name.

{a) First Congress Session, Mumbai (1885) (i) George Yul

{b) Second Congress Session, Calcutta (1886) (i) Badruddin Tayyabji

{c) Third Congress Session, Madras (1887) (iii) Womeshchandra Banarjee
(d) Fourth Congress Session, Allahabad (1888) (iv) Dadabhai Naoroji

Answer options :

(@ (b) (o) (d)
1 @ @Gv) 6 )
2 () (v) @) ()
@) @) @ @ ()
@ (v) i) G (i)

29. 1847 Hedl G €SX T SITH SIS PRUR RN FiF Seuml Y& g S o AT gu Hieh
el Bl ?

(1) e (2) < ede (3) T 4) Yedic

In 1847 who was the first to demand the launch of a railway connecting the Murmbai port and the
cotton producing regions ?

(1) Bright (2) George Layite (3) Willogby (4) Prescott

& FINTETS AN / SPACE FOR ROUGH WORK PT.O.
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30.

31.

32.

14
9. 1935 =01 R ANA BEAER DO AT TG TGS Fen?
(a) WEA B (by Fid d@ sife gfean
(c) TeXel ¥ (d) B BHTR
9aR:i I
(1) (@) (99 (d) (2) (@), (k)3 ()
3) (@) )7 (4) FHP
Government of India Act of 1935 provided for establishment of which institutes ?
(a) Fedral Court (b) Reserve Bank of India
(c¢) Fedral Railway (d) High Commissioner
Answer options :
(1) (@) () and (d) (2)  (a), (b) and (c)
(3) (a), (b) and (d) (4)  All of the above

fafeei=n URTE i@ el ST 999 B Y

(a) TR TGl D! (b) SIRRIGTR T

(c) onffe wewmigr o (dy wRamr onfes fqerd &Rl

FAAUDT PO e/ fum R I ?

(1) (a) o (b) (2)  (b) 3 () ) ()P 4) (b))%
Which of the following was the aim of “Trading Economy” of British Government ?
(a) No Trading competition (b) Maximum profit

(c) Control on economic factors (d) Economic growth of India

Which of the statement given above is/are correct ?
(1) (a) and (b) (2)  (b)and (q) (3)  (c) only (4)  (b) only

1. WIS El A€ & A GREPd B 7

(1) &0 g4 (2) wmEfSs dguE

(3) faerar gHfdars @) Re=h et

What Dr. Bhau Daji Lad was the proponent of ?

(1) Female old age home (2) Social discrimination
(3) Widow remarriage (4) Christianity

F=AT FTAEE! AW / SPACE FOR ROUGH WORK
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33, s oiga arg 9arg e

(a) oA YIBRTEA WD () T AT AFEayd A e

(b) IR WORT, G&ET g i) Reed Prerraren g ol Aug AT WA
T FHIDU

() I IFT (i) A e T feFRiRan sheeeyed v

(d) PuadE I (iv) Wiga fg Sicrordl wamAl

gy SN

(@ (b} () (d)
(1 @ @ Gv) @
@ @@ @ Gv) (@)
®) vy (w) (@@ ()
(4) (@ @) @ @)

Choose the correct option by matching the following :

(a) Acharya Bal Shastri (i)  Establishment of Manav Dharm Sabha at Surat
Jambhekar

(b) Durgaram Manchharam, (ii) Parification of Shripad Sheshadri Paralikar was done who
Dadoba Pandurang was in the custody of Christi Missionary

(c) Annie Besant (ili) Establishment of Normal School and Victoria Institute

(d) Keshavchandra Sen (iv) Establishment of Central Hindu-College

Answer options :
@ () (0 (@

(
1 ) @ (v) (@
) @ @ @ |
(3) (iv) () @) @
(@) (m v O @

34. el SaraEEd @RS BIoR [u gHrEa)y sma?
(a) e oiiE wvuT Wi o Ry A sireiel o,
(b) el WS XY QYA BRvArEr U B e
(c) HuEl YeNl wrg fReaaae qheen e,
(d) ol el o SifereTa Henwian wewwEl gWia el o,
TR SR
(1) (o), (d) e gFrRT smed @ (@) (), (@ R gFrR smed
B) ), (o), (d) AT g sT (4)  (a), () R gHA ama
Which of the following statements are false regarding revolt of Santhala ?
{a) Economic exploitation of Santhala is presented in Punjab Review.
(b) Santhala declared the decision of establishment of ‘State of Truth’.
() Kanhu the leader of Santhala was treacherously kidnapped.
(d) O Mauli, the officer gave the report of duel of Santhala.
Answer Options :
(1) (b), (d) statements are false (2) (a), (b), (c) statements are false
(3)  (b), (0), (d) statements are false (4) (a), (c) statements are false

el FHTATS AN / SPACE FOR ROUGH WORK PT.O.
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35. WeRIIE Qe WHCe § Wikdl SIS ey ol

(a) AT Ry (i)  omRTE
(b)y =i Rgga s (i) g
(©) T=ENRE @Nd (i) Fuf anfor AR

(d) TMEY YIS (iv) TgaHi®

(2) @ @) @) ()
() @) @v) @ G
4 Gv) (@) () @

Match the following organizers of the Secret Militant Organizations in Maharashtra and their

areas.
(a) Shridhar Paranjape (i) Amravati
(b} Dr. Siddhanath Kane (i) Belgaum
{c) Dadasaheb Khaparde (i) Wardha and Nagpur

(d) Gangadhar Deshpande  (iv) Yavatmal
Answer options :
(@ () (9 @
L @) @ @ )
(2 @ @) @) @
@) @) G@v) @ ()
4) (v) (W) (@) @

Fo1 FHAER! T / SPACE FOR ROUGH WORK
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36. TUI® ORI AFREIYN YEIS! PIVRN JATH A«idd BN ?
(a) B T A
(b) GES WAMGR
() GuUR®
(d) TG
Tl PR AaE/fREm a¥ER /e
(1) (a) 3T () Ha (2) {(a), (b) MM (c) BT
(3) (b) 3 (d) BT (4) (b, (c) MY (d) BT
Gopal Ganesh Agarkar was related with which of the following Newspapers ?
{a) Kesari and Maratha
(b) Varhad Samachar
(c) Sudharak
(d) Swarajya
Which of the statement/s given above is/are correct ?
(1)  (a) and (c) only (2) (), (b) and (c) only
(3)  (b) and (d) only (4)  (b), {¢) and (d) only

37. Wl feRomaeT e S,
(a) 'IREW TER gOIH GH Hol.
(b) SN STl I
() T & srAveEE e
d) AT U FUEY yege

Tafdl e
(1) =EWE AR (2) TNgresg™T MEA
(3) ToRISrerEr & ~ (4) T&em aresT

Identify the person from following description :
{a) He started the Newspaper ‘India’

(b)  Establishment of Bombay Association

(c) Establishment of East India Association
(d) President of Indian National Congress
Answer options :

(1) Dadabhai Naoroji (2) Gopal Krishna Gokhale
(3) Firojshah Mehta (4) Dinshaw Wachha
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38.

39.

18 A

AyaIRETed ISl HRUNYG oXeiel el faeeh M Hom angg?

(a) Ry 7 gRem & ¥ TR T N RN T I

(b) "Brer nfdr Frer' ¥ R fEgRAER SiHer Uit wifgsr YT YREFIT RGURE e Fel mie.
(c) 'HETHI ML AT SRCHIR Toas WRAred] J0T W@A=arGRal A8 IRy HRA JHer i1
(d) WRTTeN AGYAET AEOTET R 39 3R

T I -

(a) (b) (c) (d)
(1) YR ¥% TR TG HEAS RN I CRE g wEHE oren faen
(2) WX WHT IEAR T 9% HEAg el for IR IERE 2R
(3) =, AETey HeHg et o a6 W S AeAS
(4) wedE sl T FHS Hes f& a1, |EReR IR A%

Who made the following statements which caused the growth of Communalism ?

(a) Hindu and Muslim are two nations and these are two opposite countries.

(b) The policy of divide and beat has to be adopted in India and Muslims should be kept away
from Hindu.

(c) Mahatma Gandhiji's Civil-Disobedience Movement is not totally for freedom of India but to
keep Indian Muslims under the domination of Hindu Mahasabha.

(d) Those who are recognizing India as their motherland, India is their nation.

Answer options :

(a) (b) (©) (d)

(1) Principal Sir Sayyad V.D. Sawarkar Mohamad Ali
Bake Ahamad Jinnah

(2) Sir Sayyad Principal Mohamad Ali V.D. Sawarkar
Ahamad Bake Jinnah

(3) V.D. Sawarkar Mohamad Ali Principal Sir Sayyad

Jinnah Bake Ahamad

(4) Mohamad Ali Sir Sayyad V.D. Sawarkar Principal Bake

Jinnah Ahmad

1 AT 1866 IS T o T T SfATeE | SeR¥ Bra eY

(a) =0 fRrefor (b) <TSienrg fRarer

(c) e et (d) enfiie e

@ P fauE/fam w_ER amgd?

1) @efre (2 G @) (P 4) () Fed

What was the aim of East India Association organisation, established on 1 November 1866 ?
(a) Female Education (b) Political Education

(c) People Education (d) Religious Education

Which of the statement given above is/are correct ?

(1) (a) and (b) (2) (b)and (d) (3) (g only (4) (d)only
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40. IR IS afyveE SOl Wieer PIven =d) geitd B ?

(a) TIHT OE JFRBY (b) TpRToTeTEl AEAT

(c) TG THH (d) . e

Tt S

(1) (a), (c) 3nfOT () B (2)  (b), (c) 3P (d) B
(3} (a) @mor (b) I @) (o) @mfor (d) Wt

Which of the following personalities were related with Bombay Presidency Association
Organisation ?

(a) Gopal Ganesh Agarkar {b) Firojshah Mehta
(¢) Badruddin Tayyabji (d) Justice Telang
Answer options :

(1} {a), (¢) and (d) only (2) (b}, (c) and (d) only
(3} {(a) and (b} only (4) (c) and (d) only

41. HERTSE Iogid 1911 9 1921 A1 SEATT ANGHE a6 HOTHAD il A PRUT B0l
(1) & PR B STHaR
(2) IR D GYSIRIS 9%
(3) YIS w7
(4) Shenfirmzomar e

In the decade of 1911 to 1921 the Population Growth in the State of Maharashtra was negative.
The reason behind it is

(1) Low birth rate during that period
(2) High death due to epidemic

{3} More deaths due to flood

(4) Lack of industrialisation

42, HERT g P IR HSDE! w1 e SN,
{1y 1986 (2) 1987 (3) 1988 (4) 1983
Maharashtra State Agricultural Marketing Board is established in .
(1} 1986 (2) 1987 (3) 1988 (4) 1983
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43. YRaW 1 fUepren gaof < woEm.
(1) (2) e (3) wgE (4) <A
In India is called as a ‘Golden Fiber’ crop.
(1) Jute (2) Wool (3) Cotton (4) Silk
44. TERTTE IR STR-SR R Er wdh/S R ame?
(1) Wgs (2) viymERd
(3) eI (4) =y
Which is the mountain/hill situated on the North-South direction of western Maharashtra ?
(1) Satpura (2) Shambhu Mahadev
(3) Satmala (4) Sahyadri
45. T fJam grg 351 s@ra?

(a) Ifr=dT URIGRON Wisaeran ¥ fshder 9o Baer -,

(b) ¥ireET ARG S ASaaEsie dfedre il ae-fevmdial WA arEd FHIT dred,
T4 I

(1)  (a) 377 (b) AT fqgmr Imed.

(2) (a) SfOT (b) AT e ATEN.

(3) (a) e Y& &fey (b) e Arg (SRER) 37E,

(4) (a) faa Oy (@RER) &l (b) faem gora e,

Following statements are correct or incorrect ?

(a) Commercialisation of agriculture did not promote capitalist - agriculture.
(b) Commercialisation of agriculture intensified tenancy and share-cropping.
Answer options :

(1) (a) and (b) are true statements

(2) (a) and (b) are false statements

(3) (a) is false and (b) is true statement

(4) (a) is true and (b) is false statement
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46, FERTCHE SAEERHE 98 @eletd s e e ? |

(1) ot (2) e (3) YeTerU (4) Riggd
lron ore reserves in Maharashtra are located in the district of
(1) Wardha (2) Nashik (3) Buldhana (4) Sindhudurg

47. TERTCREE 39 SEEEin o aear aen e . TARF DI IHE B GESe Swaral

g ?
(1) eammrE gRiger aRRRerh ) waifEm 9 HeeA
(3) onf¥ie wigqArE 39T (4) ¥ SfFR faasE

Following are some of the problems in the agriculture sector in Maharashtra. Which one is more
social in nature ?

(1) Adverse weather condition (2) Limited Agricultural research
(3) Lack of financial capital (4) Fragmentation of farmland

48. 2019wwﬁaé¥ﬂwhmﬁauﬁmwﬁﬁreﬁaﬂ%’?

(1y 9.0% (2) 8.4% (3) 7.3% (4) 9.34%
What is the percent share of tourism in India’s domestic income as of 2019 ?
(1) 9.0% (2) 8.4% (3) 7.3% (4) 9.34%

49. TEHANH! T VRN 9RE fFARUCE TE Aga 63 o7

(1) "% (2) e (3) wisem (4) SrAHTN
One of the following is an important port situated on the west coast of India.
(1) Chennai (2) Haldia (3) Kandla (4) Kolkata
50. HERTSTT ‘W' ARSI |Xe) €qHe §aig oed A1 Weend ST,
(1) frIRUTS=T a9 (2) =T HeRTg
(3) wRIEATRI 4) Y4 =4
The average highest temperature in the month of May is recorded in region of
Maharashtra.
(1) Coastal Region (2) Western Maharashtra
(3) Marathwada | (4) Eastern Vidarbha
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51. fheng &g ol Urens SerT Ryd s9eel sy SIvR?

(1) uf=m sme (2) anfeem (3) BN (4) HE g9
Bhilai Iron and Steel Industry is located in the state of .
(1) West Bengal (2) Odisha (3) Chhattisgarh ~ (4) Madhya Pradesh

52. BRI ITog I el ®ioh 9IR0] Pl AR FHed?

(1) 2017 (2) 2018 (3) 2019 {4) 2020
When State Government in Maharashtra has declared the Blue Revolution Mission ?
(1) 2017 (2) 2018 (3) 2019 (4) 2020

53. UMV WRTTCT ATpEvl o A Bd 8. PRI
(a) TMIUT NI FaY THl IS,
(b) UMV VR TERIFS TATR BN,
(c) UTAIUT AN RISTIR SUTesd HAT 3.
(d) AT AR HgEY IR 3.
Ot eI e /faum aER Imd?
(1) (b) 30f0T (o) (2) wa (b) (3)  (a) ST (d) (4) T (d)
The population is decreasing continuously in rural area, because :
(a) The birth rate in rural area is low.
(b)  The rural people are migrating to urban area.
() The employment is not available in rural area.
(d) The death rate is high in rural area.

Which statement/s of the above is true ?
(1) (b) and (c) (2) only (b) (3) (a) and (d) (4) only (d)

54, TERTEE BN GIETERE SOl Wil Ya-el WA S IRem wel 37e?
(1) ¥ERTGdS IBET T6R (2) wErd gag anfYr HEgel SR X
(@) fFaR TEe = () TSUs THSA

Which of the following physiographic factor predominently influence on climate of
Maharashtra ?
(1) Deccan plateau in Maharashtra (2) Sahyadri mountain and Satpuda range

(3) Coastal plains (4)  Mudkhed hills
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55. TG USRIel SH1g B gIgasiy Yhed S Aala] qaeien e ?
(1) TR (2) T (@) = 4)
The multipurpose project of Gujarat ‘Ukai’ is situated on which River ?
(1) Sabarmati (2) Tapti (3) Mahi (4) Narmada
56. HAE 2020 WX BT I WAE FN uq Hewi ) do waifye e ?
(1) FACes @) (3) TN 4) WK
In which state the number of Primary Agricultural Credit Societies was highest at the end of
March 2020 ?
(1) Karnataka (2) Tamil Nadu (3) Gujarat (4) Maharashtra
57. 1993 4 WRBRA el egerEren Aaoie &ART SwhArEl FridauE Sy
WA HeTAl Bl
(1) = IFFE (2) HicH ARy
(3) . IR (4 I\ dedwEr
The Government appointed a Committee in 1993 on Disinvestment in Public Sector Enterprises
under the Chairmanship of .
(1} G.V. Ramkrishna (2) Montek Ahluwalia
(3) C. Rangrajan (4) C.P. Chandrashekhar
58. W 2017-18 W&l WRARNel waifte wae e faave (FDI) 23.6% 71 &= BN
(1) Euwor dar (2) oG &
@) o aft wisd AR 4 <
During 2017-18 Foreign Direct Investment (FD1) was highest 23.6 percent in sector in
India.
(1) Communication services (2) Manufacturing sector
{3) Real and Wholesale trade (4} Financial services
59. qrY WEEUTR SIS HARAT I BRUANTS, 2021-22 v siddeeur 10 eTanen aiiie creae

el T FHERITE T 2217 B yaHE HUGE] WRAE I,
1y 32 2) 42 (3) 52 (4) 62

To tackle the burgeoning problem of air pollution, the 2021-22 Budget proposes to provide an
amount of ¥ 2217 crore for urban centres with a million-plus population.

(1) 32 @ 42 (3) 52 @) 62
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24 A

AT ST ofesdl
(a) <O fg wHiwran Fwam we @) N PUS I
(b) WA gaW I I Auled &EnEe 9w (ii) °E T T T
(c) woR AENAIFIE FRMT RO SeT (iii)y WTER FENT
(d)y &M TEEEE IR (iv) dET e
Tl e

@ (b} (¢ (I
O @ O @
@ ) @ 6
G) @ O @ W
@) @ ) O @
Match the following :
(@) Second largest agro based industry in India (i) Cotton industry
(b)  One of the oldest and organised industry in India (ii) Iron and steel industry
(c) Industry leading to rapid industrialisation (i) Sugar industry
(d) Use of new technology {iv) Automobile industry

Answer options :

@ ®) (& @
M @ 6O @
i) (@) 6
i) ) @ W
i) @) 6 6

61.

iz anfor weerl Wees (CAG) T1 gravil oRar TR 3y Suargl AR IRE ol IRe

JEATel WIS STATITL _ Ragreqr a0 @i gRew sEareay @ fowdht v wwman,
(1) 30 fe=< (2) 60 fags (3) 90 feaw (4) 120 faaw

Comptroller and Auditor General (CAG) has a right to order conduct of supplementary audit and
he may also comment upon the audit report within days from the date of receipt of
audit report.

(1) 30 days (2) 60 days (3) 90 days (4) 120 days

Tl FHERI AR / SPACE FOR ROUGH WORK
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62. YOOI YT MM IR TS WROT AT BRBIA FEUTAT.

(1 focar e (2) oS qE () WARE e (4 W @

The difference between fiscal deficit and interest payment during the year is called

(1)  Fiscal deficit (2) Budget deficit (3) Primary deficit (4) Revenue deficit

63, Fug SHET Yedrl ogAde arcuieEl der o srarea Heuid weie fdgm feerRe =
(a) FHEEAS 25 TFF R.
(b) YAF IR RGO 33.5 TqH IR,
() YUl SXSIR SOl deIel 16.5 Tdd WK,
(d) AN IO GHATHO! 25 TFP WK
Fhea S/ e/~ Q@ ema ?
(1) 9o (a) ST (d) AT 3R (2) DaD (b) MM (c) AFT I
(3) S (a), (b) MM () AT BT (4)  HIASB (a), (c) SN (d) A 3

Consider the following statements in the context of Seventh Finance Commission for distribution
of the states share of the central excise duty :

(a) 25 percent weightage for population.

(b)  33.5 percent weightage for poor in each state.

(c)  16.5 percent weightage for increase in the per capita income of the state.
(d) 25 percent weightage for income equilisation between state.

Which of the statement/s given above is/are correct ?

(1) Only (a) and (d) are correct (2) Only (b) and (c) are correct

(3)  Only (a), (b) and (c) are correct (4) Only (a), (c} and (d} are correct

Fo4T HHTATE AR / SPACE FOR ROUGH WORK PT.0.
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26 A
Grelel g™ fierm = .
(a) o9 famr onftT U9 B Hewfew (YEURON) TG WO 2021 Hed HGR Pa.
(b) oa famen T SdERiTEA aY bell Sl
(c) <a o s=n v fmeRe Serrd fEr ok
TS BUR /A /A dvm sme/a?
(1) e (a) MM (b) T7T AT (2) & (a) M () IFT amRA
(3) WA (b) 30T (c) AT 3mET (4) TR wd AT M
Consider the following statements :

(a) The Deposit Insurance and Credit Guarantee Corporation (Amendment) Act, passed by the
Parliament in 2021.

(b) The deposit insurance premium is recovered from the depositors.
(¢)  The deposit insurance premiuin is compulsory for all insured banks.
Which of the statement/s given above is/are correct ?

(1) Only (a) and (b} are correct (2}  Only (a) and (c) are correct
(3) Only (b} and (c) are correct (4)  All of the above are correct

65.

el fag faRe «=0.

(a) YU UMV ISR PN (SGRY) FaR 2001 HEY o FHROATT ATl

(b) HEST T IR T IR T AT (MGNREGS) Wgart! 2006 A8 G S0 IME.
(c) &% IR Yo (NRY) SdeER 1989 HEY U0l =T BIUEEE! g HRUgM ATl
R e fagm/fRamid s Qum/fRam 9 ang/sma?

(1) {a) ®ad (2) (b) W @) @IP)yDR (@) (a) T () I

Consider the following statements :

(a) Sampoorna Grameen Rozgar Yojana (SGRY) was launched September 2001.

(b) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) was
mtroduced in February 2006.

() The Nehru Rozgar Yojana (NRY) was launched in October 1989 for the benefit of the rural

poor.
Which of the following statement/s given above is/are correct ?
(1) (a) only (2) (b)only (3) (a)and (b) only (4) ({(a)and (c) only
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66. 2016 & TAF. fHT G & 9 wefd arme.

(1) s 9 e

(2) IR dTEieE Are

(3) e a9 e

(4) i SaweErl Yy e dy e Haa!

N.K. Singh Committee of 2016 is related to

(1) Twelfth Finance Commission

(2) Twelfth Five Year Plan

(3) Fourteenth Finance Commission

(4)  Fiscal Responsibility and Budget Management Act

67. WIRAWE 1980 4 1985 IT HTald <8 WA YREGT 20T GRTd] HIURT SR B 7
(a) aRET FEI
(b) T RN FArHAEE
(c) UV HEATARIYT
(d) T AGURY HYET Py TR

"-'I'ﬂ‘f??f'u'ﬂi' :
(1) FaD (a) M7 (d) (2) PaB (b) 30T ()
(3) HIS (a), (b) M0 () (4) HaB (b), () MMy (d)

Which of the following were the reasons for small land holdings during 1980 to 1985 in India ?

(a) Law of inheritance

(b) Rapidly growing population

(¢}  Rural indebtedness

(d) Rapidly growing joint family system

Answer Options :

(1) only (a) and (d) (2) only (b) and (c)

(3) only (a), (b) and (c) (4) only (b), (c) and (d)
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68.

28 ' A
v, g anftr guigR 39 wrdwfre fandiern 9 918 el Yoy SR Yeaiie e
SHRUAR 37T ?
(1) ufte duaids domEr (2) TIEQ dmare e
(3) R vmaite I (4) @A dgare AT

During which five year plan three major steel plants in the public sector were built up at Rourkela,
Bhilai and Durgapur ?

(1)  First Five Year Plan (2) Second Five Year Plan
(3) Third Five Year Plan (4) Fourth Five Year Plan

69.

WeAeTId! BRI I AGHET SR 2000 ¥ Siyase wrl1?

(1) gy T HH HI0 (2) <WEHF @B

(3) N e HeATE o (4) 23 FeIiT TBE Py REHRUAE FrdTed
Which of the following is not objective of National Population Policy 2000 ?

(1) Reduction in infant mortality (2)  Universal immunisation

(3) Mid-day meal for poor children (4) Incentive to adopt two child small family

70.

Freiiee! BIue YRO R dow gRAmwTEs Aifis Sua a@ ?

(1) ¥ = (2) AfRre wHEEEe

(3) IRF WG GHE (4) duifre Jg gE

Which of the following is not a quantitative monetary measures of Reserve Bank of India ?
(1) Bank Rate (2) Moral Suasion

(3) Cash Reserve Ratio (4) Statutory Liquidity Ratio

71.

WA P verAd) ST yaEear wad W o 7
(1) xS 2y SraftrE (3) @™ (4) =i

Which of the following substance has the highest thermal conductivity ?

(1) Wood (2) Aluminium (3) Glass (4) Silver
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72. UAEIESH AN YR SIHE] YR HRAl e FEuE.
(1) emad (2) gftrer (3) X< (4) It
Light enters the eye through thin membrane called the
(1) Iris (2) Pupil (3) Retina (4) Cornea
73. uireEd WA Vg A, OR FAE G SN0 ISUD A I .
(1) 17 #exuen s9 (2) 17 Arexusn WRd fdhar 17 Aex
(3) 7 Aexvar A (4) RIS BIVRE A8
Echo is heard if the distance between the source of sound and the obstacle is
(1) Less than 17 meters (2) More than or equal to 17 meters
(3) Less than 7 meters (4) None of the above
74. < U] HISTHE, SedgTdl DI HAT B h/2m A1 IRATET SfEEey i 31TE.
(1) waX®IS (2) STeed (@) 9w (4) wHl
In model of an atom, the angular momentum (mvr) of an electron is an integral multiple
of the quantity h/ 2.
(1) Rutherford’s (2) Dalton’s (3) Bohr's (4) TFermi's

75. @Rieua! o e fragr.
(1) NUEH §HET Ban BN U] Hewiwl IXored] YHI TR B,
(2) T U] HEHE BT HEHENA W g TAT BIR HE S,
(3) TS oAl SopmEUaT HfEHE Y0 FEN Hor B W IR,
(4) o, &, s R oifesifE v wan Eifaen s,
Choose the incorrect answer : ,
.(1)  Bonding molecular orbitals are formed by the additive effect of the atomic orbitals.

{2)  The electron density in the internuclear region in bonding molecular orbital is very low.

(3)  Energy of the antibonding molecular orbital is higher than that of the combining atomic
orbitals. S

(4)" " Antibonding molecular orbitals are represented by o*, w*, 8%, etc.
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76. Wia® ARG AR TG, ARAEHET fAaw] Y HUER SRS B

(1) NO; ¥ NHj A& (2) N,d¥ NH} 7%8

(3) NH; ¥ NO3 W (4) NO3 FN, e

During biclogical nitrogen fixation, nitrifying bacteria convert

(1) NOj to NHj (2) Nyto NHj

(3) NHj to NOg 4) NOj toN,

77. WA Sl el

(a) UEEA HAIoW () R
(b) TS ST (i) i WU

() TR Tl (iii) ~gRICIFAS
(d) THHFE FIHAN (iv) foa faurd
i S

(@ (b) (© (d
1 Gv) G @ ()
(2) @) @Gv) @) ()
G O @ (v) ({i)
(4) () @ @ v
Match the following :

(a) Python molurus () Haemotoxic
(b) Naja naja (ii) Blind snake

(c) Viper russelli (i) Neurotoxic

(d) Typhlops braminus (iv) Non-poisonous

Answer Options :

@ ® () ()
M (v @ @ @
(2 @) @) @ @
3 O @ G 3@
@ @@ @ @@

R
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78. 3N dNGe oAl @eleid! A7 TH BT ?

(1) e, Ssicya, AR, e

(2) Igen, 6T, SRfbeE, By

(3) EHRFEM, gel, TaSICdl, $eT

(4) e, TR, wergen, wrfEeE

Which one of the following is the correct sequence of larval stages of Aurelia ?
(1) Planula, Hydratuba, Scyphistoma, Ephyra
(2) Planula, Ephyra, Scyphistoma, Hydratuba
(3) Scyphistoma, Planula, Hydratuba, Ephyra
(4) Hydratuba, Ephyra, Planula, Scyphistoma

79. RN B0 /HIoTE IUT/IIOAET EE ¥ GYCOR Yo A i Aiear
(a) A, WM, g AT ANIH
(b) EG, TR, HAT AT eleqr®T
(¢) MY, WR, YeHsy 3T uie
(d) Herex, wXel, o AT IgH

qﬂfﬁw :
(1) w4 (b) (2) wad (b) ST (c)
(3) wad (c) 3T (d) (4) AP Od

Which of the following is/are group/groups of reptilian animals ?
(a) Lizard, Snake, Frog and Loris

{b) Turtle, Gharial, Caiman and Tuatara

(c) Turtle, Crocodile, Salamander and Lizard

(d) Salamander, Catotes, Turtle and Frog

Answer Options :

(1) Only (b) (2) Only (b) & (c)

(3) Only (0) & (d) (4) All of the above
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80. WRUI YEgRilel ¥l Riemmge faien Iaeay 7Romm Sva™l $RU BT
(a) IffErE G e Twige
(b) frer 918 Yeeurdes
(c) U= fyaeyuTs
(d) SIS eTRi=T AT
T PO e /Rae aRER o/ e ?
(1) (a) B (2)  (a) 37 (b) Wt
(3) (a), (b) &M (c) P (4) (a) 30T (d) BEFT
Irrigation in the fields of saline tract affects the productivity of crops because of :
(a) Degradation of soil structure
(p)  Growth inhibition of plants
(c) Leaf discolouration
(d) Salt accumulation in soil
Which of the given above statement/statements is/are correct ?
(1) (a) only (2) (a)and (b) only
(3) (a), (b) and (c) only (4) (a) and (d) only

81. IaR® dls U HH?
(1) TERE Afe=E RO 0T
(2) TEET YR YU
(3) TETEl YRS Uy SIUIy
(4) U@ YRIT Ag EwdE o)

How the occurrence of Endemic pest is defined ?
(1) Occurs frequently in months

(2) Occurs in few localities

(3) Occurs in the same area year after year

(

4)  Occurs in an area in severe form

82. wu S @ SUS oY, & I FHIU] TR HASA ¢
(1)  IfTeie 2) e (3) gfaslmme 4) fr<rra
Plants whose seeds are naked, are classified in which group ?
(1) Angiosperms  (2) Gymnosperms (3) Tracheophyta (4) Cryptogamms
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83. Wi Bl fN] Te Seieed g Aasy "ot gy fhar sgRfEa A wdude
TR ?
(1) <7 fmog (2) XrE aRRE 3) fefcrdm &t (1) Ffedm 1
From the following viruses, which one transfers from one person to other via infected needles or
unprotected sex ? N
(1) Dengue virus (2) Rota virus (3) Hepatitis A (4) Hepatitis B
84. HIUIA WIS 91 XNMGNIel TEEl W wAEer ?
1) & I (2) TSTS W
(3) oREHe TRIMT (4) YT T
Which scientist discovered small pox vaccine ?
(1) Louis Pasteur (2) Edward Jenner
(3) Alexander Flaming (4) Selman Waksman
85. Froigeevul SRUUEESl WRieyd! HIomEr 9 Bra?
(1) e gare (2) SRFed
(3) THRsS Ry (4) WfsgA wEET
Which of the following is used to disinfect surfaces ?
(1) Ultraviolet light (2) Autoclave
(3) Infrared light {4) Sodium Carbonate
86. e fagmrh e v THae e am?

. Rme siet ¥ oM aiffeR® o’ o Al RFRe uiffedy BueRl ard
T,

Wb : () e Tfeear ffedh afkd de .
(i) s @) fRT i Reem s mida fER e,

T SR

(1) & TS (i) TRIEx

(2) BII TEGS (ii) IRER

(3) TEGE (i) M (i) T IR

(4) TECE (i) AN () A RER AET

Find out which assumption is correct from the given statement.

Statement : ‘Cigarette smoking is injuriofis to Health’, this information is given on the cigarette
packet, because,
Assumption : (i) People read the information given on the cigarette packet.

(i) Many people take seriously the warning given on cigarette packet.
Answer Options :

(1) Only (i) assumption is correct

(2)  Only (i) assumption is correct

(3) Both (i) and (ii) assumptions are correct

{(4) Both (i) and (ii) assumptions are not correct

FAT HMETS AR / SPACE FOR ROUGH WORK PT.O.
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87. Tafy Y Mewmde wErid dwer yAv gde IaEea SYifel oTE,

YA UHUT AT = 8500 IMF TX M S, M 3fer L ard frg wRrerd A wen fedr?
(1) 1521 (2) 1641 (3) 1672 (4) 1651

The percentage distribution of passengers in different trains are shown in the following pie-chart.

20%
Train M Train Q
19%

24.%
Train S

G

Total number of passengers = 8500. What is the average number of passengers in Trains S, M and

L together ?

1y 1521 (2) 1641 3) 1672 ) 1651

=1 FHEIE AT / SPACE FOR ROUGH WORK
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88. I« e U% 9 foigem werwm A8y g, UUsd IS foigwa WSNTaS 3 Ul iedredr 9 gwedr
SET® A8, ISl Sudies AR WIS 3ME U Yo Serdl SHIPbs BIUd WS e,

QAT PO e/ a3/ emed

() TAga =rs wug Snfr arfearear WSl WEd S,
(i) TR TS ARS ST fAgEn HsTET A S,
(i) TUSY S TR HSNOAS AL,

T S

(1) wad e (i) anfon (i) TR smed

(2) wad faEm (@) T (iif) SRER omEd

(3) o e (i) SMfT (jii) IR ST

(4)  Faum (), (id) o7 (iii) SRIER e

Mango tree is in the middle of Gauva and Lemon tree. Papaya tree is near the Lemon tree but not
near the Mango tree and Gauva tree. At the right side of Papaya tree is Coconut tree but at the left
side of Gauva tree no any tree.

Which statement/s of following is/are correct ?

(i)  Lemon tree is between the Papaya and Mango tree.

(i) Papaya tree is between Coconut and Lemon tree.

(iif)  Papaya tree is near Coconut tree.

Answer Options :

(1) Only (i) and (ii) statements are correct

(2)  Only (i) and (iii) statements are correct

(3) Only (ii) and (iii) statements are correct

(4) (i), (ii) and (iii) all statements are correct

FeA FHER AR / SPACE FOR ROUGH WORK PT.O.
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89.

36 A

TehT FRTIHEN 80 WG AR, TR 36 WG HASS Wad g 48 Warg, fophe Wadd. WX 12 Uarg,
BIGS! T fhhe & SEE WS Wod FHAe ax bl <o Uolg, dasel Jyal firde Wad A ?

(1) 20% ) 15% 3) 10% ) 5%

There are 80 players in a club, of which 36 play Kabaddi and 48 play Cricket. If 12 players play
both Kabaddi and Cricket, what is the percentage of players who do not play either Kabaddi or
Cricket ?

1) 20% @) 15% 3) 10% @) 5%

90.

A, B, C, D, E o701 F UepT 3l S aM¥a. B F a1 D =7 9 991 8ng. E & A o1 C = /el 9
. A Ffbar D= &g qe =181, C& D= &g g¢ e, F & S0 Sirsrear Hedy Su1 e ?

(1} B3 D (2) B A (3) BaMUTE (4) B e C

Six students A, B, C, I, E and F are standing a row. B is between F and D. E is between A and C.
A does not stand next to either F or D. C does not stand next to D. F is between which of the

following pair of students ?

(1) BandD (2) Band A (3) BandE 4) BandC

91.

R SUS FEY, A M A AR gy 13 13 v Sy qeifd sl anfy Ny gdfed e
T O ¥ Z A arery ey — 13 —12 Tia erdier 9% SUCCESS 9= quiferdl 39w fohen
¥ 7

1 -11 2 11 3) 16 4) 20

If the letters in the English alphabets, A to M represent number from 1 to 13 respectively and N
represent zero and the letters O to Z correspond from —1 to —12, what will be sum of integers for

SUCCESS ?

1 -11 2 11 (3) 16 (4) 20

F=A1 FHEEE! AT / SPACE FOR ROUGH WORK
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92, ST vIovEl saw Aadrey fEneien A, B, C, D U1 9R J@edl Sed. Wel faeted qaward qeErE ity
Tff® Thdmr Frera adifaen o,

frera Fremdi < |
€A | g 8-B | g@d-C | qwd-D |

@ e sl frens 24 25 15 | 17|
e e st wég e Thad Sl frenel | 14 13 18 18
AEMTE TET Sat uig aife e e e 8 17 11 15
I waa St faendt 64 55 46 70
T TffE W DU HeM T 2™ THI0 AT W e ?
(1 B 2 A 3 D 4) C

A school has four divisions A, B, C and D of ninth standard students. The results of half-yearly
and annual examinations are shown in table given below.

( Result Section A Sé::i.ozf;t;::i;:: C Secﬁong
students failed in both examinations 24 25 15 17
students failed in half-yearly but passed in annual exams| 14 13 18 18
students passed in half-yearly but failed in annual exams 8 17 11 15
|students passed in both examinations 64 55 | 46 70

Which division has the maximum passing rate in the annual examinations ?

(1) B 2) A ) D 4 C

Fo] FMAS AN / SPACE FOR ROUGH WORK P.T.O.
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93. Wl npameEl Tefareem Sl B W A5
12 |18
40 35 2
2 X 79
18 45 20
12 | 13
(1) 116 (2) 111 (3) 114 4 112
What will be the number at the place of question mark ?
12 | 18
40 55 2
? 79
18 45 20
12 {13
(1) 116 ) 111 (3) 114 4 112
94. TPl Hibfae 9T RED = 9 &nfdr BLUE = 10 @) WHITE = ?

95.

() 13 (2) 15 3) 17 4 19
In a code language, RED = 9 and BLUE = 10. Then WHITE = ?
1) 13 ) 15 @) 17 4) 19

FTTMER YA b R goideie Wieial el ol E. QN WieRilel ¥ 50 Hex S Infer
STTTRErE A A 40 R emE AR 5601 | Arvararey R 9 emRiier ?

(1) 7arE 2) 6 (3) 5 (4) 3@

Travelling in a train, a person is counting the number of electric poles. The distance between the
two poles is 50 metres and the speed of the train is 40 km/hour. Then how many hours will the
person require to count 5601 poles ?

(1) 7 hours (2) 6 hours (3) 5 hours (4) 3 hours

Tl FIES AT / SPACE FOR ROUGH WORK
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96. AgHY 17 97 wdw Jafie w=d aual el
(1) 47 {2) 37 (3) 48 (4) 49
Find the average of natural numbers between 1 to 97.
(1) 47 {2) 37 (3) 48 (4) 49
97. 250 Hrex A Y ME @ 45 R A, AT ey, AR 250 A, A ofewh sraiswarars
%@ AR ?
(1) 36 dFa (2) 40 &S (3) 50 9FT (4) 45 9P
A train 250 metres long running at a speed 45 km/hr, how long does it take to pass a platform of
length 250 metres ?
(1) 36 Seconds (2) 40 Seconds (3) 50 Seconds (4) 45 Seconds
98. XM YUIRel T O] 6% Awa™ el gERA & G 5% drear deren fawel. SR wrerdy
A fhAa wad 2014 SR OY <fadl wwer b feahn?
(1) =94 2000 (2) w2011 (3) ®T 2020 (4) T 1900
Ravi sold an article to Sudhir at a profit of 6% who in turn sold that to Gopal at a loss of 5%. If
Gopal paid Rs. 2014 for the article, find the cost price of the article for Ravi :
(1) Rs. 2000 (2) Rs. 2011 {3) Rs. 2020 (4) Rs. 1900
99. TH AU FEET yuaren 4 fFA ol 9 W I Sy Sy 6 fe uiy o e uvd A, 9% Qe
TR YarrEl | 4 e
1) 48fpdya (2) 5 e/ (3) 42fpd9/am () 5.6 fEN/am
A man goes to Mumbai from Pune at a speed of 4 km/hr and returns to Pune at a speed of
6 km/hr. What is his average speed of the entire journey ?
(1) 4.8 km/hr (2) 5km/hr (3) 42 km/hr (4) 5.6 km/hr
100.

A ftT B Te & TSR0 15 Rawrg gt H3a@ B vaer 99 @ 20 Ragw got wwa av A Teer
ag @m fed RRaw@ ot sva?
1) 60 (2) 45 (3) 40 @ 30

If A and B together can complete a piece of work in 15 days and B alone in 20 days. In how many
days can A alone complete the work ?

(1) 60 (2) 45 (3) 40 4) 30

-000-
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40 A

T - (F 1 T4 2.

(8) WyTgRasw e fafes & faftre s &= am (@ a6) . wegRasafaiea soxufsar a1 3¢
FIRIEGE F HM HE o B HLUGTAT I FS 38, WY S TS T FITET SHIAAGT STEA 0l
He e B IRl Yiasy sodEEay afafee-82" R Sgdga $IEE HidEe 35
T TN R FRIG Th G FIOAEEAT S/ 61 T08 Uh s e gste fidm o 2.

(9) WL WTUCIHETS AT fafed N 9% WAl IHEEI & WITYRadT Wa R THTRETETe Ued
SV WG IS, A TUERAETe AT SHEAR ST SRl -1 FIEnRe 7 e T 0 RvaE

HIE.

R. & 201.

9. %. 201.

AT U
T O T BT B TAd: TIA F 7
(1) T EEE R (2) 3yaay REmrm
(3) TS THHER YA (4 TATGEW T

BT 99 A T 4(3) T TR T T, e @ W S (3)” B, UIRid WoenAr
¥ @, 201 THE sa-wmae Q) ¥ ade e srifed de qrat arasds e,

ONON NO

I TEAY TG TTIRABAS Wl G el Fei{—Hwih B JooTe Teicior (el Gl Saiuisieha i
T W YR e Geta e oot Bl S qrEarar. aneE e G Fed e SeRd T,
Y a1 TR I qE
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